February 24, 2021

Math 125
Spring 2021

Lecture 10

y=ax’+bx+c

Class Q¢ 3

Sowe | 2639, Yreph, S.8N., TN

Xou st se wethods disussed i this class,
-

Solve \27@1\:"\ Qe ) i B

1 <
2% =9 Ok 2Xx-1=-8
2x= 16 2x- -2 SB.N.

=) ER RIS T T
N (- w)“]\]{%ﬂ’)




February 24, 2021

Gaven S(x) - \él?c _ 5\

D Sind S¢ 5) 2 Sowe  S)=-5
S(JS):\?.(_-‘S) -—5\ = \~\0-5\ \er_ 5\: _5
-\-| %) ¢

3) Selve.  $09:5

|2x—5\=5 \XD'E’}

2x —5=5 2x-5= =9
x=5 ?\Z:O\

Is (‘1/3) a Solutiow o) {:*Zaclo ?
X 1'53:3

ko424 =10 |3y 154 =3 T ddad work

Y *3(3) =10 3(4) 1_5(3) _3 Sv/ bath fi-'\d'?‘ovl";
" 6 =10

12 :
=10V o 53@

27 =3
fFalse




February 24, 2021

Solve gzx —tg=24 by 3m‘>h‘n(f].
3= Sx 43
dx -14=24 :‘%Ms \(03)
1Y Y3k (0,3 }
o & 6 ) -2 :\ « 7
s ' M3 Z %0
ETuo&.'ov\s ave u‘nc’epmclev\“r. ¥ i (‘l,-'i)
Sy stew s Consistent. / (6~b)

Sotve 4 x t3Y= -5 bj Substidution Method

QCQa— -3 Wint-: Ysolale o
with % Og‘ l{'
Y. a

'X:l—}

E(‘?j 1)§
exacty one  Solution

—» Equations Gve \'thpwJM\
- Systewn s ConSistent




February 24, 2021

So\ue \on Subs. 'me'H\oa\.'

Bin¥: Use L
T e

€°rud.‘ova o cleay

WX vz Loy =

L‘
S"‘K‘}-’o ns.

Eeugme-gg:m > %x + 2Y=4%

i vt dx st Blx a2y sus
Iv\gtm‘\—e % oF Solutiows k=4sg - Za
%(x,\o)\ x 12445} 18-2Y 524 =48

4=4% Trug

}(‘Fz_z\jjlg) \ Y isogrea\#i

TnSinde % 05 Solukows

—Ettud\'oms Cwe depe»dew}
— SWstem 15 Consistent

%o\\lq ‘33 Subs.

g 2x %43 2(8-4v) ¥84 =3

x +l(3:'?s =P'k:%~"\‘a lé~%a 13y =3
16=3
Whew, No Solutiow Faloe

_ Byvablons Ove Independen) =p m

_ Sysfewm s tnCons istevif




February 24, 2021

Solve l)a QO\O‘H”'\/@“MM«"TM Methool
}22’ s/a/:‘ij &(53 \U:j'l

Inckpede.d’ E’MS
Consisterf Sysfew

So\ve ba Ci“mfﬂajh‘ow Me"H\m{.'
g\\wx -5 Y= -8 }%‘x - 10Y=-36
=p

5(3x 24 =2 15X +10Y-= -0
\
23% w

3(-2)v2y =2

6 12y=-2 Vza o2

2Y=-2 +6




February 24, 2021

SO\VQ’ 2%&* _\_Sa - —\5 %..H‘X _éj =30
|4

3(5x x2y =1 U ey =3
\
5(3) 2y =1 =33
X=3

1<) -\2‘3 =1

41 tickets  Sold. A = Adults

$307  Collected K — keds
Advlts pay $11 —5(A y K= Hl
Kids  Pay %5 1114 + 9K = 301

How mon Y OS‘ eb&\'\? 3\(5“ —HhK= =205

11A A 5K = 301
Rxk=Y| 6A =102
LT ¢ K=4| @

Wodlts 2 24 Kidg




February 24, 2021

UTL“WL\"‘-e(J SUPFW oS 30/ Q‘Co)\ol i 80'/. Q‘tahol.

Jose meeds 100L 0S5 S0/ alcohol.
How does he have Bt mux To obfan whit he

Y\ee(!‘.)?.
30/, v | s . 50/,
% ters X (fers 100 Ii}es oS SOZ

v =t L)% €Y =00
loo[ 30/, % + 0. Y =50, C100) 0] 30x +80Y = 50(100)

_3§ X x4YW=100 - 3‘3){ »33: <300
3x ‘\%3:500

5Y=2 =
3x Y = 500 =259=200 4-40

X=&0
60 Litery 03 30/ alcohel &
9 ¢ ¢ Bl o
39 Cotns v - Quarters

‘/G).\JQTTQVS 5. b(‘W\ES O'\‘Y 0~ Dimes
Total Volve $190 g g + D = 35

How W\M\S 0y each? 100

gia 1 D= 35 —2%1(2 AD =39 2R —2p = 1§
5 (25R 10D =150

sR +2D= 150 L5R+2D= (50
3R =2




February 24, 2021

EH A B =45
e Algh =

Condy type A > $20/1b,
Condy  type B $190/ \b.,

Morin Mmeed 45 90&»\0\5 of $l4o /b,

How many poonds oS each?
chi‘{ A Gedy B Modure
l $1.20/ b ‘ N | $lso/lb $lM0 / (b,

39«5—%‘ 319*\3 =45
120 41606 < 140C18)  (0{12A 4136 < 14(45)
A x B =45
(4 7 laa & 6B = (4015)
-4 } A A B=Ys
YA +6B = 210

- Simq —4B = -1%0
4a + 6B =210

20 |b. 0% 'ng . 2p-30 = =|B=I5]
5 lb. & ¢ |

Rso

Iwo  angles

AEB

owve @""7 Tokl =90

one oS thewm @
S%v\(k l)o‘“\ an\es.

Ywie the other ome.

A +®=S0 2B+B:AD
a-5p 3B =50

30° ¢ 6O R-=60




February 24, 2021

S'\QA @00 Com\) \emm‘?\\r‘( Qﬂﬁ\ea Such ﬂ\a\*
one oY “\e.w\@ (w 3 fimes

the otha Owe,

» A+ B =0
A- 3B 10
W42 =20
& -3% 10 2B 410 4B =50

4B =<0
<20° £70° 3 s-20) (R-10]

\ "W TO‘_G\\ :_\%00
Tw Qve SUPP ementwy .

& D

ove o5 thew ©5 20" fess Than the(obe one

Ay ®=\QO
S;QA both angles.
q - B 20
B_ZO -\-B: I‘@O
g0 £ 100 2B = 200




February 24, 2021

Yad [wo Supplementury anﬁtg Such thal
the Som oS fwee ome oS thewm ond  Thvee
bimes the other ome 15 470,

«22 A +« B =1%0 XL—?,R 2B = -3

>0 + 3B —u70  L2A 438 =470

. o) =0
no° £110° L
R <10

Exam 1 ¢ Monday
YU Con  Stwt as early Qs 6:45AM

I Ends ot A0, resome lecure ot
Silo
Stody guides O T L
Moty ts Cuwulative.
Cumeye, O, M. On.

You wusy Use Some W\tﬂwJS Qs ‘ed‘wes,




